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QUESTION 1

You have created the following Workflow Agent in your OTM test environment and you want to move it to
your OTM production environment:

Agent Name: SHIPMENT NOTIFY

Event: LATE_SHIPMENT (New Custom Event)

Saved Condition: SHIPMENT IS INBOUND (New saved condition)

Actions:

IF SHIPMENT STATUS IS NOT CANCELLED (IF uses a new Saved Condition)
SET INTERNAL STATUS: ENROUTE_DELAYED

ENDIF

Which Screen Set ID\\'s do you have to use in your Migration Project?

A. AGENT, EVENT, SAVED_CONDITION, SAVED QUERY

B. AGENT, CUSTOM_EVENT, SAVED_CONDITION, SAVED QUERY

C. AGENT, AGENT_EVENT, SAVED_CONDITION_QUERY

D. AGENT, CUSTOM_EVENT, SAVED_CONDITION

E. AGENT, AGENT_EVENT, SAVED_CONDITION, SAVED QUERY

Correct Answer: D

QUESTION 2

Select the three correct statements regarding Freight Settlement in OTM. (Choose three.)

A. Invoice checks may be printed out of OTM.

B. Rules for matching, approval, and allocation are the cornerstones of automation in Freight Settlement.
C. Freight Invoices may be created within OTM or interfaced from an external system.

D. Invoices in OTM must be tied to a shipment.

E. Freight Settlement in OTM may be used to pay invoices to carriers as well as bill customers for freight.

Correct Answer: ACE

QUESTION 3

Latest 120-1079-21 Dumps | 1Z0-1079-21 Practice Test | 120-1079-21 Braindumps

2/3


https://www.pass4itsure.com/1z0-1079-21.html
https://www.pass4itsure.com/1z0-1079-21.html
https://www.pass4itsure.com/1z0-1079-21.html

VCE & PDF https://www.pass4itsure.com/1z0-1079-21.htmi
g 2024 Latest passditsure 120-1079-21 PDF and VCE dumps Download

— PassditSure.com

Which option represents Original Invoice Cost field at Shipment?

A. Contains the initial invoice amount adjusted by any additional charges or invoices that the carrier later sent to you
B. Total Approved Cost on a sell Shipment

C. The Initial invoice amount received from the carrier

D. Total Actual Cost minus the rebate amount as defined in the Secondary Charge Rules

Correct Answer: C

QUESTION 4

How should you set up permissions for users to access data in other domains?
A. Assign User Preference via Manage User access.

B. Use Domain Grants.

C. Use Insert User Role in VPD Profile.

D. Assign Access Control List in User Role.

Correct Answer: B

QUESTION 5

Which rate component defines how transportation time will be calculated for the Rate?
A. Rate Service

B. Rate Distance

C. Rate Record

D. Rate Lane

E. Rate Offering

Correct Answer: B
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